

GENERALISATION OF MATRICES GIVING ABSOLUTELY PERMANENT SERIES -TO - SEQUENCE AND SERIES -TO - SERIES TRANSFORMATION

Suresh Kumar Sahani

Department of Mathematics, Rajarshi Janak Campus, Janakpurdham, Nepal

Department of Mathematics, MIT Campus, Janakpurdham, Nepal.

Abstract: We obtain the theorems of matrices absolutely permanent series – to – sequence and series – to – series transformation. In this paper we prove the product matrix $H = GB$ exists and is a γ_A – matrix for every γ_A matrix G iff B is an α_A – matrix, the product GB of a γ_A – matrix G and an α_A – matrix B exists and is a γ_A - matrix and the product of two – matrices are an -matrix.

Index Terms: matrix method for summability, sequence - to-sequence transformation etc.

1 INTRODUCTION

Matrices giving absolutely permanent series - to-sequence and series - to - series transformation. The subject of infinite matrices; being a recent one is abounding in good research problems. A very important application of matrices, namely to the theory of summability of divergent sequence and the series was initiated by Toeplitz [9] in 1911. Since, then, it has attracted almost all researches in the field of summability methods.

1.1 Although the concept of “absolute summability” was introduced as early as in 1911 by Fekete [10] in case of Cesaro [12] methods, and the same for Riesz and Abel[11] methods was defined by Obrechhoff [13] and Whittaker[14] in 1928 and 1932 respectively, for matrix transformation in general thesis was considered in 1937 by Mears. Ordinary summability by the general matrix transformation has been investigated in considerable detailed thus haseached a stage where a sufficiently unified theory can be presented. But absolute summability on the other hands is still in its infancy.

It was proved by Bosanquet [1, 2,5and 6], in 1931 that the necessary and sufficient condition that an RF- transformation.

$$\gamma_n = \sum_{k=1}^{\infty} g_{nk} u_k, (n > k) \quad (1.1.1)$$

should tend to finite limits whenever $\sum u_k = S$ is that $G = (g_{nk})$ should be a γ matrices.

In 1949, Vermes [4, 7, 8] considered the RR- transformation

$$\gamma_n = \sum_{k=1}^{\infty} b_{nk} u_k \quad (1.1.2)$$

And proved that the transformation iff the matrix $G = (g_{nk})$ defined as

$$g_{nk} = b_{1k} + b_{2k} + \dots + b_{nk} \quad (1.1.3)$$

($n, k \geq 1$) is a γ – matrix such a matrix

$B = (b_{nk})$ is called an α - matrix

In the same paper vermes has prove the following theorems involving product of and matrices [3]. Sufficient of the conditions was first proved for a lower semi - matrices by H. Bohr in 1909. Carmichael and Perron proved the sufficiency of the conditions for a general matrices. It was Hahn who proved the necessity of the condition and also gave a complete proof.

Theorem A

The product GB of a γ – matrix G and α - matrix B exists and is a γ – matrix.

Theorem B

A necessary and sufficient for the matrix product $H = GB$ to exists and be a γ – matrix for every γ matrix G is that B should be an α - matrix..

Theorem C

The product of two α - matrices is an α - matrix. Knoop and Lorentz proved the RR- transformation (1.1.2) is absolutely permanent iff the transformation matrix $B = (b_{nk})$ is and α_A – matrix.

2 PRELIMINARIES

Theorem 2.1

If $g_{nk} = b_{1k} + b_{2k} + \dots + b_{nk}$,
 $(n, k \geq 1)$ then $G = (g_{nk})$ is a γ_A -matrix iff $B = (b_{nk})$ is an γ_A -matrix. (2.1.1)

Theorem 2.2

The product GB of a γ_A -matrix G and α_A -matrix B exists and is a γ_A -matrix.

Theorem 2.3

The product BG and α_A -matrix B and a γ_A -matrix G may not exist.

Theorem 2.4

The product of γ_A -matrix G and α_A -matrix B is not commutative.

Theorem 2.5

The product matrix $H = GB$ exists and is a γ_A -matrix for every γ_A -matrix G iff B is an α_A -matrix. GB is an α_A -matrix.

Theorem 2.6

The product of two α_A -matrices is a α_A -matrix.

Theorem 2.7

The product of two γ_A -matrices may not be a γ_A -matrix.

3 Proof of the theorems are shown as follows

3.1 Proof of theorem 2.1

In (2.1.1) if G is a γ_A -matrix then form $\lim_{n \rightarrow \infty} J_{nk} = 1 \forall k=1,2,\dots$

$$\lim_{n \rightarrow \infty} \left(\sum_{i=1}^{\infty} b_{ik} \right) = \lim_{n \rightarrow \infty} g_{nk} = 1 \quad (3.1.1)$$

$$\begin{aligned} \text{Also, } |b_{nk}| &= |g_{nk} - g_{n-1,k}| \leq |g_{nk}| + |g_{n-1,k}| \\ &\leq k_{n-1}(G) + k_n(G) \end{aligned} \quad (3.1.2)$$

$$\begin{aligned} \text{Since, each } |g_{nk}| &< k_n(G), \text{ independent of } k \\ \sum_{n=1}^{\infty} |b_{nk}| &= |g_{1k}| + \sum_{n=2}^{\infty} |g_{nk} - g_{n-1,k}| < M(G) \end{aligned} \quad (3.1.3)$$

By condition $\sum_{n=2}^{\infty} |J_{nk} - J_{n-1,k}| < M(G)$

Where, $M(G)$ is absolutely constant independent of k . Conditions (3.1.1) – (3.1.3)

are precisely the condition for the matrix B to be an α_A -matrix. Conversely, if the matrix $B = (b_{nk})$ is an α_A -matrix. Then in the definition,

$$\begin{aligned} b_{nk} &= g_{nk} - g_{n-1,k}, \quad (n > 1, k \geq 1) \\ b_{1k} &= g_{1k} \quad (k \geq 1) \end{aligned} \quad (3.1.4)$$

We have to prove that $G = (g_{nk})$ is a γ_A -matrix. It is easy to see from (3.1.3)

That, if $\sum_{n=1}^{\infty} |b_{nk}| < M(B)$, then

$$\sum_{n=2}^{\infty} |g_{nk} - g_{n-1,k}| < M(G) \text{ independent of } k \quad (3.1.5)$$

From $|b_{nk}| < k_n(B)$, it follows that

$$\begin{aligned} |g_{nk}| &= |b_{1k} + b_{2k} + \dots + b_{nk}| \leq |b_{1k}| + |b_{2k}| + \dots + |b_{nk}| \\ &< k_n(G) \text{ Independent of } k \end{aligned} \quad (3.1.6)$$

$$\begin{aligned} \text{Lastly by definition } \sum_{i=1}^n b_{ik} &= b_{1k} + \sum_{i=2}^n b_{2k} = g_{1k} + \sum_{i=2}^n (g_{ik} - g_{i-1,k}) \\ &= g_{nk} \end{aligned}$$

Therefore,

$$\lim_{n \rightarrow \infty} g_{nk} = \sum_{i=1}^{\infty} b_{ik} = 1, \quad (3.1.7)$$

Thus the conditions (3.1.5) – (3.1.7) show that the matrix $G = (g_{nk})$ in (3.1.4) is a γ_A -matrix. Hence, the theorem is completely established.

3.2 Proof of theorem 2.2

Here $G = (g_{nk})$ is a γ_A - matrix. Consequently if the Series $\sum q_j$ is convergent then the G- transform of $\sum a_j$ namely.

$\sum_{j=1}^{\infty} g_{nj} a_j$ exists for all n, and is a sequence of bounded variation.

Also,

$\lim_{n \rightarrow \infty} (\sum_{j=1}^{\infty} g_{nj} a_j) = \sum_{j=1}^{\infty} a_j$ choose $a_j = b_{jk}$, where b_{jk} are the elements of the α_A - matrix B.

Now, [By The RR- transformation $\gamma_n = \sum_{k=1}^{\infty} b_{nk} u_k$ is absolutely permanent iff the conditions $\sum_{n=1}^{\infty} |b_{nk}| < M(B)$, $|b_{nk}| < k_n(B)$,]

$$\sum_{j=1}^{\infty} a_j = \sum_{j=1}^{\infty} b_{jk} = 1, \quad k = 1, 2, \dots$$

Also, for an α_A - matrix B,

$\sum_{j=1}^{\infty} |b_{jk}| < M(B)$ independent of k. Therefore, if $H = GB$, then

$$|b_{nk}| = |\sum_{j=1}^{\infty} g_{nj} b_{jk}| < |g_{nj}| |b_{jk}| < k_n(H), \text{ independent of k.} \tag{3.2.1}$$

Therefore the product matrix $H = (h_{nk})$ exists for all n and k as well as

$$\lim_{n \rightarrow \infty} (h_{nk}) = 1 \tag{3.2.2}$$

Now,

$$\begin{aligned} \sum_{n=2}^{\infty} |h_{nk} - h_{n-1,k}| &= \sum_{n=2}^{\infty} |\sum_{j=1}^{\infty} (g_{nj} - g_{n-1,j}) \cdot b_{jk}| < \sum_{n=2}^{\infty} \sum_{j=1}^{\infty} |g_{nj} - g_{n-1,j}| |b_{jk}| \\ &= \sum_{j=1}^{\infty} |b_{jk}| \sum_{n=2}^{\infty} |g_{nj} - g_{n-1,j}| \\ &< M(G) M(B) \end{aligned} \tag{3.2.3}$$

$< M(H)$, independent of k. The conditions (3.2.1 – 3.2.3) show that $H = GB$ is a γ_A -matrix.

3.3 Proof of theorem 2.3

We consider the following example,

$$\text{Let } b_{nk} = 1 \text{ for } n=1, k = 1, 2, \dots \tag{3.3.1}$$

$$= 0 \text{ for } n > 1$$

$$\text{And } g_{nk} = 1 \quad \forall n, k \geq 1 \tag{3.3.2}$$

These matrices B,G defined in (3.3.1) and (3.3.2) are α_A - and γ_A - matrices respectively. Their product,

$(GB)_{nk} = (G)_{nk}$ exists and is the γ_A - matrix G of (3.3.2) but the product

$$\begin{aligned} (BG)_{nk} &= \sum_{j=1}^{\infty} (b_{nj} g_{jk}) \\ &= \sum_{j=1}^{\infty} (1 + 1 + \dots)_{nk} \text{ doesn't exist. Hence, the required result follows} \end{aligned}$$

3.4 Proof of the theorem 2. 4 and 2.5

Theorem 2.4 and sufficiency of the condition in theorem2.5 follows by combining the theorem 2.2 and 2.3.

To prove the necessity part of theorem2.5, we consider a γ_A - matrix G,

$$\text{defined as } g_{nk} = 1 \text{ for } k \leq n \tag{3.4.1}$$

$$= 0 \text{ for } k > n$$

Then the product matrix $H = (GB)$ is

$$\begin{aligned} h_{nx} &= \sum_{j=1}^{\infty} g_{nj} b_{jk} \\ &= \sum_{j=1}^n b_{jk} \end{aligned} \tag{3.4.2}$$

By theorem2.1, the matrix

$H = (h_{nk})$ in (3.4.2) is a γ_A - matrix, only if B is an α_A - matrix.

3.5 Proof of the theorem 2.6

Let A and B be any two α_A - matrices. We define a matrix

$G = (g_{nk})$ as

$$g_{nk} = a_{1k} + a_{2k} + \dots + a_{nk}, \quad (n \geq 1, k \geq 1) \tag{3.5.1}$$

Then by theorem2.1, (g_{nk}) is a γ_A - matrix and by theorem 2.2,

The product

$(H)_{nk} = (GB)_{nk}$ is a γ_A - matrix. If we further define

$$c_{nk} = h_{nk} - h_{n-1,k}, \quad (n > 1, k \geq 1), \tag{3.5.2}$$

$$c_{1k} = h_{1k}$$

Then $C = (c_{nk})$ is an α_A - matrix and

$$\begin{aligned} c_{nk} &= \sum_{j=1}^{\infty} g_{nj} b_{jk} - \sum_{j=1}^{\infty} g_{n-1,j} \\ &= \sum_{j=1}^{\infty} (g_{nj} - g_{n-1,j}) \\ &= \sum_{j=1}^{\infty} a_{nj} b_{jk} \end{aligned}$$

$$\therefore (c)_{nk} = (AB)_{nk}$$

By definition (3.5.1) of the matrix G. Hence the proof is complete.

3.6 Proof of the Theorem 2.7

An example is sufficient for the part of the theorem. Consider the γ_A - matrix

$G = (g_{nk})$ defined in (3.4.1) another γ_A - matrix $H = (h_{nk})$,

$$h_{nk} = 1 \quad \forall n, k \geq 1 \quad (3.6.1)$$

The product matrix $F = GH$ of the two γ_A - matrices is given by

$$\begin{aligned} f_{nk} &= \sum_{j=1}^{\infty} g_{nj} h_{jk} \\ &= \sum_{j=1}^n g_{nj} b_{jk} \\ &= n \end{aligned}$$

$$\therefore \lim_{n \rightarrow \infty} (f_{nk}) = \infty \neq 1 \quad \forall k$$

And each fixed n, this shows that F is not a γ_A - matrix.

4 Conclusion

In this paper we prove the product matrix $H = GB$ exists and is a γ_A – matrix for every γ_A matrix G iff B is an α_A – matrix, the product GB of a γ_A – matrix G and an α_A – matrix B exists and is a γ_A - matrix and the product of two α_A – matrices is an α_A - matrix.

REFERENCES

- [1]. Bosanquet, L.S., (1954), Convergence and summability factors in a sequence. *Mathematika* 1, 24-44
- [2]. Bosanquet, L.S., (1983), Convergence and summability factors in a sequence. *Mathematika* 11, 30(2), 255-273
- [3]. Bhatt, S. N., (1958). A Tauberian theorem for absolute Riesz summability, *Indian journal of mathematics*, 1, 29 - 32.
- [4]. Vermes, P. (1946). Product of a T-Matrix and a γ -matrix, *Jour Lond. Math. Soc.*, 21, 129-134.
- [5]. Astrachan, M. (1936). Studies in the summability of Fourier series by Norlund means, *Duke Mathematical Journal*, 2 PP. 543 - 568.
- [6]. Bosanquet, L.S., and Hyslop, J.M. (1936). The absolute summability of a Fourier series, *proc. London Math. Soc.* 41 PP. 517-52.
- [7]. Vermes, p., (1949). Series to series Transformation and analytic conditions by matrix methods, *Amer. Jour. Math.*, 71, 541-62.
- [8]. Parameshwaran, M.R. (1952). Some Converse Theorem on Summability, *proc. Ind. Acad. sci.*, 36, 363-69.
- [9]. Toeplitz, O. (1911), U'ber allgemeine lineare Mittelbildungen, *Prace Mat. Fiz*(22), 113-119.
- [10]. Rogosinski, W.W. (1958), Obituary. Michael Fekete, *Journal of the London Mathematical Society*, Second series, 33; 496-500.
- [11]. Abel, N.H., (1826) , *Journal für reine and angewandte Mathematik*, 311-339
- [12]. Cesaro, E., (1890) , *Sur la multiplication des Series*, *Bull. Sci. Math*(2) vol. 14, 114-120.
- [13]. Obrechhoff, N. (1936), *Formules asymptotiques pour les polynomes de Jacobi et sur les series suivant les memes polynomes*, *Ann. Univ.* 32, 39-135.
- [14]. Wilson and Bidwell, E. (1913), *A history of theories from the age Descartes to the case of the nineteenth century*, *Bulletin of the American Mathematical Society*, 26(4), 183-184.